

STRONG CONSISTENCY OF LS ESTIMATOR IN SIMPLE LINEAR EV REGRESSION MODELS

XIANGDONG LIU*, XIANGLONG LI, WEIDONG JIANG AND FANGNING FU

(Communicated by X. Wang)

Abstract. Under some moment conditions on the errors, the sufficient and necessary conditions are given for the rate of the strong consistency of the least squares estimate in a simple linear errors-in-variables regression model.

1. Introduction

Consider the simple linear errors-in-variables (EV) regression model:

$$\eta_k = \theta + \beta x_k + \varepsilon_k, \quad \xi_k = x_k + \delta_k, \quad 1 \leq k \leq n, \quad (1.1)$$

where $\theta, \beta, x_1, \dots, x_n$ are unknown parameters or constants, $(\varepsilon_k, \delta_k), 1 \leq k \leq n$, are random vectors and $\xi_k, \eta_k, 1 \leq k \leq n$, are observable. Form (1.1), we have

$$\eta_k = \theta + \beta \xi_k + (\varepsilon_k - \beta \delta_k), \quad 1 \leq k \leq n.$$

Then, as a usual regression model of η_k on ξ_k with the errors $\varepsilon_k - \beta \delta_k$, the least squares (LS) estimators of β and θ are given as

$$\hat{\beta}_n = \frac{\sum_{k=1}^n (\xi_k - \bar{\xi}_n)(\eta_k - \bar{\eta}_n)}{\sum_{k=1}^n (\xi_k - \bar{\xi}_n)^2}, \quad \hat{\theta}_n = \bar{\eta}_n - \hat{\beta}_n \bar{\xi}_n,$$

where $\bar{\xi}_n = n^{-1} \sum_{k=1}^n \xi_k$ and $\bar{\eta}_n = n^{-1} \sum_{k=1}^n \eta_k$, $\bar{\delta}_n$ and \bar{x}_n are defined in the same way.

Based on the above notions, we have

$$\hat{\beta}_n - \beta = \frac{\sum_{k=1}^n (\delta_k - \bar{\delta}_n) \varepsilon_k + \sum_{k=1}^n (x_k - \bar{x}_n) (\varepsilon_k - \beta \delta_k) - \beta \sum_{k=1}^n (\delta_k - \bar{\delta}_n)^2}{\sum_{k=1}^n (\xi_k - \bar{\xi}_n)^2} \quad (1.2)$$

and

$$\hat{\theta}_n - \theta = -\bar{x}_n (\hat{\beta}_n - \beta) - (\hat{\beta}_n - \beta) \bar{\delta}_n + \bar{\varepsilon}_n - \beta \bar{\delta}_n. \quad (1.3)$$

Mathematics subject classification (2010): 62F12, 62J05.

Keywords and phrases: Strong consistency, simple linear errors-in-variables regression model.

* Corresponding author.

This model was proposed by Deaton [3] to correct the effects of the sampling errors and was somewhat more practical than the ordinary regression model. Fuller [4] summarized many early works for the EV models. Due to the simple form and wide applicability, the studies for the EV model have attracted much attention for the past two decades. For more details, we refer to Liu and Chen [6], Miao et al. [7], Wang et al. [10], Hu et al. [5], Shen [8], Wang and Hu [9], Wang et al. [11], and Wu et al. [12], and so on. In particular, Liu and Chen [6] obtained the sufficient and necessary conditions of the strong consistency for the unknown parameter β , and Hu et al. [5] for the unknown parameter θ as follows.

THEOREM A. *Under the model (1.1), assume that $\{(\varepsilon, \delta), (\varepsilon_n, \delta_n), n \geq 1\}$ is a sequence of independent and identically distributed random vectors with $E\varepsilon = E\delta = 0$, and $0 < E\varepsilon^2, E\delta^2 < \infty$. Then*

$$\hat{\beta}_n \rightarrow \beta \text{ a.s. if and only if } s_n/n \rightarrow \infty,$$

where and in the following, $s_n = \sum_{k=1}^n (x_k - \bar{x}_n)^2, n \geq 1$. And further assume that $\sup_{n \geq 1} n\bar{x}_n^2 / \max\{n, s_n\} < \infty$, then

$$\hat{\theta}_n \rightarrow \theta \text{ a.s. if and only if } n\bar{x}_n / \max\{n, s_n\} \rightarrow 0.$$

Theorem A characterizes the relation between the strong consistency for the unknown parameters and the dispersion of the unknown constants x_n . Theorem A has been generalized and extended by many authors. For example, Miao et al. [7] obtained the rate of strong consistency for the unknown parameter β .

THEOREM B. *Under the model (1.1), assume that $\{(\varepsilon, \delta), (\varepsilon_n, \delta_n), n \geq 1\}$ is a sequence of independent and identically distributed random vectors with $E\varepsilon = E\delta = 0$, and $0 < E|\varepsilon|^q, E|\delta|^q < \infty$ for some $q \geq 2$. Then $n^{2-2/q}/s_n \rightarrow 0$ implies that*

$$\frac{\sqrt{s_n}}{n^{1/q}}(\hat{\beta}_n - \beta) \rightarrow 0 \text{ a.s.}$$

When $q \geq 2, 2 - 2/q \geq 2/q$ and hence $\sqrt{s_n}/n^{1/q} \rightarrow \infty$, so Theorem B gives the rate of strong consistency for the unknown parameter β . In fact, Miao et al. [7] also gave the rate of strong consistency for the unknown parameter θ , but their result does not include Theorem A.

In the paper, another kind of rate of the strong consistency of LS estimators for the unknown parameters is given. The first one is for the unknown parameter β .

THEOREM 1.1. *Under the model (1.1), assume that $\{(\varepsilon, \delta), (\varepsilon_n, \delta_n), n \geq 1\}$ is a sequence of independent and identically distributed random vectors with $E\varepsilon = E\delta = 0, 0 < E|\varepsilon|^q, E|\delta|^q < \infty$ for $1/p = 1/q + 1/2$, where $1 \leq p < 2$, and $E(\delta\varepsilon) \neq \beta E\delta^2$. Then*

$$n^{1-1/p}(\hat{\beta}_n - \beta) \rightarrow 0 \text{ a.s. if and only if } n^{2-1/p}/s_n \rightarrow 0.$$

For the unknown parameter θ , we have

THEOREM 1.2. *Under the assumptions of Theorem 1.1, if $\sup_{n \geq 1} \min\{n, s_n\} \bar{x}_n^2 / s_n^* < \infty$, then*

$$n^{1-1/p}(\hat{\theta}_n - \theta) \rightarrow 0 \text{ a.s. if and only if } n^{2-1/p} \bar{x}_n / s_n^* \rightarrow 0, \tag{1.4}$$

where $s_n^* = \max\{n, s_n\}$.

REMARK 1.1. When $1 < p < 2$, $n^{1-1/p} \rightarrow \infty$ and hence Theorem 1.1 and Theorem 1.2 also give the rates of strong consistency for the unknown parameters β and θ , respectively.

REMARK 1.2. We compare Theorem 1.1 to Theorem B under the same moment conditions. In this case, $1/p = 1/q + 1/2$ and hence $n^{2-2/q}/s_n \rightarrow 0$ implies $n^{2-1/p}/s_n \rightarrow 0$ and $n^{1-1/p}/(\sqrt{s_n}/n^{1/q}) \rightarrow 0$. So the rate of strong consistency in Theorem 1.1 is weaker than that in Theorem B. However, the restrictive condition on s_n in Theorem 1.1 is also weaker than that in Theorem B when $1 < p < 2$ (or $q > 2$ equivalently). Therefore, the two theorems are not included in each other when $1 < p < 2$ (or $q > 2$ equivalently). Of course, Theorem B includes Theorem 1.1 when $p = 1$ (or $q = 2$ equivalently).

REMARK 1.3. Theorem 1.1 obtains the sufficient and necessary condition for the rate of the strong consistency for the unknown parameter β , but Theorem B does not. We guess that the necessary condition is also $n^{2-2/q}/s_n \rightarrow 0$ in Theorem B. In fact, Chen et al. [2] got the results recently.

REMARK 1.4. Under correlated and heterogeneous errors, Wang and Hu [9] and Wang et al. [11] obtained the different convergence rate of the strong consistency, but did not discuss the sufficient and necessary condition. To our knowledge, no literature obtains the sufficient and necessary condition for the rate of the strong consistency for the unknown parameter. So the main results in the paper are new.

REMARK 1.5. The condition $\sup_{n \geq 1} \min\{n, s_n\} \bar{x}_n^2 / s_n^* < \infty$ in Theorem 1.2 is slightly weaker than $\sup_{n \geq 1} n \bar{x}_n^2 / s_n^* < \infty$ in Theorem A.

2. Lemmas and proofs of main results

To prove the main results, the strong law of large numbers for weighted sums of random variables is needed. One can refer to Bai and Cheng [1].

LEMMA 2.1. *Let $1 \leq p < 2$, $1 < q, r < \infty$ with $1/p = 1/q + 1/r$. Let $\{X, X_n, n \geq 1\}$ be a sequence of independent and identically distributed random variables, $\{a_{nk}, n \geq 1, 1 \leq k \leq n\}$ be an array of constants with*

$$\sup_{n \geq 1} \frac{1}{n} \sum_{k=1}^n |a_{nk}|^r < \infty.$$

Assume that $EX = 0$ and $E|X|^q < \infty$, then

$$n^{-1/p} \sum_{k=1}^n a_{nk} X_k \rightarrow 0 \text{ a.s.}$$

Proof of Theorem 1.1. By Theorem A, we only prove the case $1 < p < 2$.

Sufficiency. Assume that $n^{2-1/p}/s_n \rightarrow 0$. From (1.2), to prove $n^{1-1/p}(\hat{\beta}_n - \beta) \rightarrow 0$ a.s., it suffices to prove that

$$s_n^{-1} \cdot n^{1-1/p} \sum_{k=1}^n (\delta_k - \bar{\delta}_n) \varepsilon_k \rightarrow 0 \text{ a.s.} \tag{2.1}$$

$$s_n^{-1} \cdot n^{1-1/p} \sum_{k=1}^n (x_k - \bar{x}_n) (\varepsilon_k - \beta \delta_k) \rightarrow 0 \text{ a.s.} \tag{2.2}$$

$$s_n^{-1} \cdot n^{1-1/p} \sum_{k=1}^n (\delta_k - \bar{\delta}_n)^2 \rightarrow 0 \text{ a.s.} \tag{2.3}$$

$$s_n^{-1} \sum_{k=1}^n (\xi_k - \bar{\xi}_n)^2 \rightarrow 1 \text{ a.s.} \tag{2.4}$$

By the Kolmogorov strong law of large numbers,

$$s_n^{-1} \cdot n^{1-1/p} \sum_{k=1}^n (\delta_k - \bar{\delta}_n) \varepsilon_k = \frac{n^{2-1/p}}{s_n} \cdot \left(\frac{1}{n} \sum_{k=1}^n \varepsilon_k \delta_k - \bar{\varepsilon}_n \bar{\delta}_n \right) \rightarrow 0 \times [E(\varepsilon \delta) - 0] = 0 \text{ a.s.}$$

and

$$s_n^{-1} \cdot n^{1-1/p} \sum_{k=1}^n (\delta_k - \bar{\delta}_n)^2 = \frac{n^{2-1/p}}{s_n} \cdot \left(\frac{1}{n} \sum_{k=1}^n \delta_k^2 - \bar{\delta}_n^2 \right) \rightarrow 0 \times (E\delta^2 - 0) = 0 \text{ a.s.}$$

Hence, (2.1) and (2.3) hold. Set $a_{nk} = n(x_k - \bar{x}_n)/s_n$ for $n \geq 1$ and $1 \leq k \leq n$. Then

$$\sup_{n \geq 1} n^{-1} \sum_{k=1}^n |a_{nk}|^2 = \sup_{n \geq 1} \frac{n}{s_n} = \sup_{n \geq 1} \left(\frac{n^{2-1/p}}{s_n} \cdot n^{-1+1/p} \right) < \infty.$$

Therefore by Lemma 2.1 with $r = 2$,

$$s_n^{-1} \cdot n^{1-1/p} \sum_{k=1}^n (x_k - \bar{x}_n) \varepsilon_k = n^{-1/p} \sum_{k=1}^n a_{nk} \varepsilon_k \rightarrow 0 \text{ a.s.} \tag{2.5}$$

and

$$s_n^{-1} \cdot n^{1-1/p} \sum_{k=1}^n (x_k - \bar{x}_n) \delta_k = n^{-1/p} \sum_{k=1}^n a_{nk} \delta_k \rightarrow 0 \text{ a.s.} \tag{2.6}$$

Then (2.2) holds from (2.5) and (2.6). Note that

$$s_n^{-1} \sum_{k=1}^n (\xi_k - \bar{\xi}_n)^2 = 1 + 2s_n^{-1} \sum_{k=1}^n (x_k - \bar{x}_n) \delta_k + s_n^{-1} \sum_{k=1}^n (\delta_k - \bar{\delta}_n)^2.$$

Then by (2.6) and (2.3), (2.4) holds.

Necessity. Suppose that $n^{2-1/p}/s_n \rightarrow 0$ does not hold. Taking subsequence when necessary, we may assume that

$$n^{2-1/p}/s_n \rightarrow c \in (0, \infty] \text{ as } n \rightarrow \infty. \tag{2.7}$$

By (2.7) and the Kolmogorov strong law of large numbers,

$$s_n^{-1} \cdot n^{1-1/p} \sum_{k=1}^n (\delta_k - \bar{\delta}_n) \varepsilon_k = \frac{n^{2-1/p}}{s_n} \cdot \frac{1}{n} \sum_{k=1}^n (\delta_k - \bar{\delta}_n) \varepsilon_k \rightarrow cE(\varepsilon\delta) \text{ a.s.} \tag{2.8}$$

and

$$s_n^{-1} \cdot n^{1-1/p} \sum_{k=1}^n (\delta_k - \bar{\delta}_n)^2 = \frac{n^{2-1/p}}{s_n} \cdot \frac{1}{n} \sum_{k=1}^n (\delta_k - \bar{\delta}_n)^2 \rightarrow cE\delta^2 \text{ a.s.} \tag{2.9}$$

Set $a_{nk} = n(x_k - \bar{x}_n)/s_n$ for $n \geq 1$ and $1 \leq k \leq n$. Note that $n^{1-1/p}(\hat{\beta}_n - \beta) \rightarrow 0$ a.s. implies $\hat{\beta}_n \rightarrow \beta$ a.s. since $1 < p < 2$, then $n/s_n \rightarrow 0$ from Theorem A. Hence,

$$\sup_{n \geq 1} n^{-1} \sum_{k=1}^n a_{nk}^2 = \sup_{n \geq 1} \frac{n}{s_n} < \infty.$$

Therefore by Lemma 2.1 with $r = 2$,

$$s_n^{-1} \cdot n^{1-1/p} \sum_{k=1}^n (x_k - \bar{x}_n) \varepsilon_k = n^{-1/p} \sum_{k=1}^n a_{nk} \varepsilon_k \rightarrow 0 \text{ a.s.}$$

and

$$s_n^{-1} \cdot n^{1-1/p} \sum_{k=1}^n (x_k - \bar{x}_n) \delta_k = n^{-1/p} \sum_{k=1}^n a_{nk} \delta_k \rightarrow 0 \text{ a.s.}, \tag{2.10}$$

which follow that

$$s_n^{-1} \cdot n^{1-1/p} \sum_{k=1}^n (x_k - \bar{x}_n) (\varepsilon_k - \beta \delta_k) \rightarrow 0 \text{ a.s.} \tag{2.11}$$

By (2.10), $n/s_n \rightarrow 0$, and the Kolmogorov strong law of large numbers,

$$\begin{aligned} & s_n^{-1} \sum_{k=1}^n (\xi_k - \bar{\xi}_n)^2 \\ &= 1 + \frac{2}{s_n} \sum_{k=1}^n (x_k - \bar{x}_n) \delta_k + \frac{1}{s_n} \sum_{k=1}^n (\delta_k - \bar{\delta}_n)^2 \\ &= 1 + 2n^{-1+1/p} \cdot n^{-1/p} \sum_{k=1}^n \frac{n(x_k - \bar{x}_n)}{s_n} \delta_k + \frac{n}{s_n} \cdot \frac{1}{n} \sum_{k=1}^n (\delta_k - \bar{\delta}_n)^2 \\ &\rightarrow 1 \text{ a.s.} \end{aligned} \tag{2.12}$$

Thus by (1.2), (2.9), (2.11), and (2.12),

$$n^{1-1/p}(\hat{\beta}_n - \beta) \rightarrow c[E(\varepsilon\delta) - \beta E\delta^2] \text{ a.s.},$$

which leads to a contradiction with $n^{1-1/p}(\hat{\beta}_n - \beta) \rightarrow 0$ a.s., so we have $n^{2-1/p}/s_n \rightarrow 0$. The proof is completed. \square

To prove Theorem 1.2, the follow lemma is also needed, and (2.14) is interesting itself.

LEMMA 2.2. Under the model (1.1), assume that $\{(\varepsilon, \delta), (\varepsilon_n, \delta_n), n \geq 1\}$ is a sequence of independent and identically distributed random vectors with $E\varepsilon = E\delta = 0$, $0 < E\varepsilon^2, E\delta^2 < \infty$. Then

$$\min\{1, E\delta^2\} \leq \liminf_{n \rightarrow \infty} \frac{1}{s_n^*} \sum_{k=1}^n (\xi_k - \bar{\xi}_n)^2 \leq \limsup_{n \rightarrow \infty} \frac{1}{s_n^*} \sum_{k=1}^n (\xi_k - \bar{\xi}_n)^2 \leq 1 + E\delta^2 \text{ a.s.}, \tag{2.13}$$

where $s_n^* = \max\{n, s_n\}$ as Theorem 1.2, and

$$\limsup_{n \rightarrow \infty} |\hat{\beta}_n - \beta| \leq \frac{|E(\varepsilon\delta)| + |\beta|E\delta^2}{\min\{1, E\delta^2\}} \text{ a.s.} \tag{2.14}$$

Proof. It is clear that

$$\frac{1}{s_n^*} \sum_{k=1}^n (\xi_k - \bar{\xi}_n)^2 = \frac{s_n}{s_n^*} + \frac{2}{s_n^*} \sum_{k=1}^n (x_k - \bar{x}_n)\delta_k + \frac{1}{s_n^*} \sum_{k=1}^n (\delta_k - \bar{\delta}_n)^2. \tag{2.15}$$

Set $a_{nk} = n(x_k - \bar{x}_n)/s_n^*$, then

$$\sup_{n \geq 1} \frac{1}{n} \sum_{k=1}^n a_{nk}^2 = \sup_{n \geq 1} \frac{ns_n}{(s_n^*)^2} \leq 1 < \infty.$$

Therefore by Lemma 2.1 with $p = 1$, and $q = r = 2$,

$$\frac{1}{s_n^*} \sum_{k=1}^n (x_k - \bar{x}_n)\delta_k = \frac{1}{n} \sum_{k=1}^n a_{nk}\delta_k \rightarrow 0 \text{ a.s.} \tag{2.16}$$

By the Kolmogorov strong law of large numbers,

$$\frac{1}{n} \sum_{k=1}^n (\delta_k - \bar{\delta}_n)^2 = \frac{1}{n} \sum_{k=1}^n \delta_k^2 - \bar{\delta}_n^2 \rightarrow E\delta^2 \text{ a.s.}, \tag{2.17}$$

which and the definition of s_n^* follow that

$$\begin{aligned} \min\{1, E\delta^2\} &\leq \liminf_{n \rightarrow \infty} \left(\frac{s_n}{s_n^*} + \frac{1}{s_n^*} \sum_{k=1}^n (\delta_k - \bar{\delta}_n)^2 \right) \\ &\leq \limsup_{n \rightarrow \infty} \left(\frac{s_n}{s_n^*} + \frac{1}{s_n^*} \sum_{k=1}^n (\delta_k - \bar{\delta}_n)^2 \right) \leq 1 + E\delta^2 \text{ a.s.} \end{aligned} \tag{2.18}$$

Then by (2.15), (2.16), and (2.18), (2.13) holds.

By the Kolmogorov strong law of large numbers,

$$\frac{1}{n} \sum_{k=1}^n (\delta_k - \bar{\delta}_n)\varepsilon_k = \frac{1}{n} \sum_{k=1}^n \delta_k\varepsilon_k - \bar{\delta}_n\bar{\varepsilon}_n \rightarrow E(\varepsilon\delta) \text{ a.s.},$$

and hence

$$\limsup_{n \rightarrow \infty} \left| \frac{1}{s_n^*} \sum_{k=1}^n (\delta_k - \bar{\delta}_n) \varepsilon_k \right| = \limsup_{n \rightarrow \infty} \left| \frac{n}{s_n^*} \cdot \frac{1}{n} \sum_{k=1}^n (\delta_k - \bar{\delta}_n) \varepsilon_k \right| \leq |E(\varepsilon \delta)| \text{ a.s.} \tag{2.19}$$

By the same argument as (2.16),

$$\frac{1}{s_n^*} \sum_{k=1}^n (x_k - \bar{x}_n) (\varepsilon_k - \beta \delta_k) \rightarrow 0 \text{ a.s.} \tag{2.20}$$

Therefore, (2.14) follows from (1.2), (2.13), (2.17), (2.19), and (2.20). \square

Proof of Theorem 1.2. By the Marcinkiwicz-Zygmund strong law of large numbers,

$$n^{1-1/p} \bar{\varepsilon}_n \rightarrow 0 \text{ a.s. and } n^{1-1/p} \bar{\delta}_n \rightarrow 0 \text{ a.s.,}$$

and hence by Lemma 2.2,

$$n^{1-1/p} (\hat{\beta}_n - \beta) \bar{\delta}_n = n^{1-1/p} \bar{\delta}_n \cdot (\hat{\beta}_n - \beta) \rightarrow 0 \text{ a.s.}$$

Then by (1.3), to prove (1.4), it is equivalent to prove that

$$n^{1-1/p} \cdot \bar{x}_n (\hat{\beta}_n - \beta) \rightarrow 0 \text{ a.s. if and only if } n^{2-1/p} \bar{x}_n / s_n^* \rightarrow 0. \tag{2.21}$$

Sufficiency. Assume that $n^{2-1/p} \bar{x}_n / s_n^* \rightarrow 0$. By the Kolmogorov strong law of large numbers,

$$n^{1-1/p} \cdot \frac{\bar{x}_n}{s_n^*} \sum_{k=1}^n (\delta_k - \bar{\delta}_n) \varepsilon_k = \frac{n^{2-1/p} \bar{x}_n}{s_n^*} \cdot \frac{1}{n} \sum_{k=1}^n (\delta_k - \bar{\delta}_n) \varepsilon_k \rightarrow 0 \times E(\varepsilon \delta) = 0 \text{ a.s.} \tag{2.22}$$

and

$$n^{1-1/p} \cdot \frac{\bar{x}_n}{s_n^*} \sum_{k=1}^n (\delta_k - \bar{\delta}_n)^2 = \frac{n^{2-1/p} \bar{x}_n}{s_n^*} \cdot \frac{1}{n} \sum_{k=1}^n (\delta_k - \bar{\delta}_n)^2 \rightarrow 0 \text{ a.s.} \tag{2.23}$$

Set $a_{nk} = n \bar{x}_n (x_k - \bar{x}_n) / s_n^*$, note that

$$\sup_{n \geq 1} \frac{1}{n} \sum_{k=1}^n a_{nk}^2 = \sup_{n \geq 1} \frac{1}{n} \sum_{k=1}^n \left| \frac{n \bar{x}_n (x_k - \bar{x}_n)}{s_n^*} \right|^2 = \sup_{n \geq 1} \frac{n \bar{x}_n^2 s_n}{(s_n^*)^2} = \sup_{n \geq 1} \frac{\min\{n, s_n\} \bar{x}_n^2}{s_n^*} < \infty.$$

Hence by Lemma 1.2 with $r = 2$,

$$n^{1-1/p} \cdot \frac{\bar{x}_n}{s_n^*} \sum_{k=1}^n (x_k - \bar{x}_n) (\varepsilon_k - \beta \delta_k) = \frac{1}{n^{1/p}} \sum_{k=1}^n \frac{n \bar{x}_n (x_k - \bar{x}_n)}{s_n^*} (\varepsilon_k - \beta \delta_k) \rightarrow 0 \text{ a.s.} \tag{2.24}$$

By (1.2), (2.22), (2.23), (2.24), and Lemma 2.2,

$$n^{1-1/p} \cdot \bar{x}_n (\hat{\beta}_n - \beta) \rightarrow 0 \text{ a.s.}$$

Necessity. Suppose that $n^{2-1/p}\bar{x}_n/s_n^* \rightarrow 0$ does not hold. Taking subsequence when necessary, we may assume that

$$n^{2-1/p}\bar{x}_n/s_n^* \rightarrow c \neq 0 \text{ as } n \rightarrow \infty. \quad (2.25)$$

By the Kolmogorov strong law of large numbers,

$$n^{1-1/p} \cdot \frac{\bar{x}_n}{s_n^*} \sum_{k=1}^n (\delta_k - \bar{\delta}_n) \varepsilon_k = \frac{n^{2-1/p}\bar{x}_n}{s_n^*} \cdot \frac{1}{n} \sum_{k=1}^n (\delta_k - \bar{\delta}_n) \varepsilon_k \rightarrow cE(\varepsilon\delta) \text{ a.s.} \quad (2.26)$$

and

$$n^{1-1/p} \cdot \frac{\bar{x}_n}{s_n^*} \sum_{k=1}^n (\delta_k - \bar{\delta}_n)^2 = \frac{n^{2-1/p}\bar{x}_n}{s_n^*} \cdot \frac{1}{n} \sum_{k=1}^n (\delta_k - \bar{\delta}_n)^2 \rightarrow cE\delta^2 \text{ a.s.} \quad (2.27)$$

Hence, by (1.2), (2.24), (2.26), (2.27), and Lemma 2.2,

$$\liminf_{n \rightarrow \infty} |\bar{x}_n(\hat{\beta}_n - \beta)| \geq \frac{|c[E(\varepsilon\delta) - \beta E\delta^2]|}{1 + E\delta^2} \text{ a.s.},$$

which leads to a contradiction with $n^{1-1/p} \cdot \bar{x}_n(\hat{\beta}_n - \beta) \rightarrow 0$ a.s., so we have $n^{2-1/p}\bar{x}_n/s_n^* \rightarrow 0$. We complete the proof. \square

Acknowledgements. The authors would like to thank the referees for the helpful comments. The research of Liu is supported by the National Natural Science Foundation of China (No. 11271161) and Fundamental Research Funds for the Central University (19JNLH09).

REFERENCES

- [1] Z. D. BAI, P. E. CHENG, *Marcinkiewicz strong laws for linear statistics*, Statist. Probab. Lett. **46** (2000), 105–112.
- [2] P. CHEN, L. WEN, S. H. SUNG, *Strong and weak consistency of least squares estimators in simple linear EV regression models*, J. Stat. Plan. Inf., **205** (2020), 64–73.
- [3] A. DEATON, *Panel data from a time series of cross-sections*, J. Econometrics **30** (1995), 109–126.
- [4] W. FULLER, *Measurement Error Models*, Wiley, New York (1987).
- [5] D. HU, P. CHEN, S. H. SUNG, *Strong laws for weighted sums of ψ -mixing random variables and applications in errors-in-variables regression models*, TEST **26** (2017), 600–617.
- [6] J. X. LIU, X. R. CHEN, *Consistency of LS estimator in simple Linear EV regression models*, Acta Math. Sci., Ser. B, Engl. Ed. **25** (2005), 50–58.
- [7] Y. MIAO, K. WANG, F. ZHAO, *Some limit behaviors for the LS estimator in simple linear EV regression models*, Stat. Probab. Lett. **81** (2011), 92–102.
- [8] A. SHEN, *Asymptotic properties of LS estimators in the errors-in-variables model with MD errors*, DOI 10.1007/s00362-016-0869-1, accepted by Statist. Paper (2017).
- [9] X. WANG, S. HU, *On consistency of least square estimators in the simple linear EV model with negatively orthon dependent errors*, Electronic Journal of Statistics, **11** (2017), 1434–1463.
- [10] X. WANG, A. SHEN, Z. CHEN, S. HU, *Complete convergence for weighted sums of NSD random variables and its application in the EV regression model*, TEST **24** (2015), 166–184.

- [11] X. WANG, Y. WU, S. HU, *Strong and weak consistency of LS estimators in the EV regression model with negatively superadditive-dependent errors*, AStA Adv. Stat. Anal. **102** (2018), 41–65.
- [12] Y. WU, X. WANG, S. HU, L. YANG, *Weighted version of strong law of large numbers for a class of random variables and its applications*, TEST **27** (2017), 379–406.

(Received February 23, 2019)

Xiangdong Liu
Department of Statistics
Jinan University
Guangzhou, 510630, P.R. China
e-mail: tliuxd@jnu.edu.cn

Xianglong Li
Department of Statistics
Jinan University
Guangzhou, 510630, P.R. China
e-mail: xlong0376@126.com

Weidong Jiang
Department of Statistics
Jinan University
Guangzhou, 510630, P.R. China
e-mail: jwd927@qq.com

Fangning Fu
Department of Statistics
Jinan University
Guangzhou, 510630, P.R. China
e-mail: 1411434015@qq.com